FEIL EBLRER B - 82F - AE AIELER
s BT B # B moox ® ® ¥ A A = T > =
H274 | H264F il A H274 | H26% = A H27% | H26% 2 H274 | H26%F i A H274 | H26%F = A H274 | H26%F = A
ung o] % ] % A A R| % 8] % A R] %

BT 18,160 | 20,192 | -2,032 -10.1 5792 | 5,197 595 114 31.9 25.7 6.2] 2990 | 3,067 =71 -25| 2557 2,488 69 2.8 433 579 -146 | -25.2
x* & 2 2 - 2 2 - 2 2 -
Ik B o 1,867 1,937 =70 -3.6 736 478 258 54.0 39.4 24.1 14.7 334 334 265 255 10 3.9 69 79 -10| -127
Ik B/ 1,207 1,522 =315 | -20.7 292 391 -99 | -253 242 25.7 -1.5 164 207 -43 | -2038 145 154 -9 -5.8 19 53 =34 | -642
Ik B b 1,552 1,623 - -4.4 390 500 -110 | -220 25.1 30.8 =57 231 222 9 4.1 201 182 19 10.4 30 40 -10| -250
& B IR 1,702 1,780 =78 -4.4 378 536 -158 | -29.5 222 30.1 =19 258 272 -14 -5.1 205 209 -4 -19 53 63 -10| -159
Iz 2.5 &5 1,559 1,705 -146 -8.6 351 442 -91 -20.6 225 25.9 -34 193 176 17 9.7 168 148 20 13.5 25 28 -3 | -10.7
i # 301 399 -98 | -246 128 60 68 113.3 425 15.0 215 37 46 -9| -19.6 35 42 -7 -16.7 2 4 -2 | -50.0
E= Z 303 352 -49 -13.9 60 67 -7 -104 19.8 19.0 038 40 36 4 11.1 39 35 4 114 1 1
= Ein 306 314 -8 -25 132 128 4 3.1 43.1 40.8 2.3 52 50 2 40 44 44 8 6 2 33.3
X i85 2,090 | 2475 -385 | -15.6 719 455 264 58.0 344 18.4 16.0 312 333 -21 -6.3 270 259 1 42 42 74 -32 | -432
1B % 428 539 -1 -20.6 186 125 61 48.8 435 23.2 203 86 76 10 13.2 73 64 9 14.1 13 12 1 8.3
it Pzl 1,214 1,159 55 4.7 324 225 99 440 26.7 19.4 73 262 176 86 489 212 152 60 39.5 50 24 26 108.3
W 3 177 221 -44 1 -19.9 29 73 -44 | -60.3 16.4 330 | -16.6 22 53 =31 -58.5 17 39 -22 | -56.4 5 14 -9 -643
i £ 191 248 =57 -23.0 32 65 -33 | -50.8 16.8 26.2 -94 26 39 -13 | -333 26 31 -5 | -16.1 8 -8 | -100.0

£ 884 837 47 5.6 203 153 50 32.7 230 18.3 41 112 102 10 9.8 90 83 7 8.4 22 19 3 15.8
hn b3 861 897 -36 -4.0 322 224 98 438 374 25.0 124 135 123 12 9.8 121 102 19 18.6 14 21 -7 -333
Al R 982 1,205 -223 -18.5 309 273 36 13.2 315 22.1 8.8 170 173 -3 -1.7 130 147 -17] -116 40 26 14 53.8
2R R 1,275 1,632 -257 -16.8 745 483 262 54.2 58.4 31.5 26.9 292 298 -6 -2.0 268 2317 31 13.1 24 61 -37 | -60.7
g I 321 367 -46 -125 97 130 -33| -254 30.2 35.4 =52 72 94 -22 | -234 69 81 -12 | -1438 3 13 -10| -76.9
-} i 287 364 =71 -21.2 136 81 55 67.9 474 22.3 25.1 45 83 -38 | -4538 42 73 -31 -42.5 3 10 -7] -70.0
T = 126 173 —-417 -212 45 84 -39 | -464 35.7 486 | -129 17 23 -6 | -26.1 17 23 -6 | -26.1
=) 432 459 =217 -5.9 154 196 -42 | -214 35.6 427 =71 110 130 -20| -154 102 109 -7 -6.4 8 21 -13 | -61.9
R 4 95 84 11 13.1 22 28 -6 -21.4 232 333 | -10.1 18 21 -3 | -143 16 19 -3 | -1538 2 2




